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Relação do aço

2xP10 2xP15 P16

2xP18

AÇO
N DIAM

(mm)

QUANT
C.UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 356 118 42008

2 5.0 60 98 5880

CA50 3 10.0 42 227 9534

4 10.0 4 267 1068

5 10.0 42 303 12726

6 10.0 16 VAR VAR

7 10.0 30 VAR VAR

Resumo do aço

AÇO
DIAM

(mm)

C.TOTAL

(m)

PESO

(kg)

CA50

CA60

10.0

5.0

302.4

478.9

186.4

73.8

PESO TOTAL

(kg)

CA50

CA60

186.4

73.8

Volume de concreto (C-30) = 4.05 m³

Área de forma = 53.4 m²

Paula R. Castamann

Daniel Thalheimer

NOVA BOA VISTA
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